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SOLUTIONS

Question 1

a y=:(x—-1°->Z=2(2x-1)°x2=4Q2x—1)°

1 mark
b.
. ’ x2 cos(x)—2x sin(x) xcos(x)—2sin (x)
i. f'x) = — = =
2 marks
.o ’ 7 cos(m)—2sin (1) 1
i.  fiM)=——FF—"—"=-5
1 mark
Question 2
’ 2 2
a. f'(x)= ~—X
3
f(x) =2In(x) —x?+ c
2=—I4coc=-2
3 , 3
fO) =2In@) -5 -2
3 marks
2y _7_¢°
b. f(e?)=1-¢
1 mark
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Question 3

a. 0 =§(2 — 1) (k + 2)?

k+2=0
k=-2

b. f'(x)=0-5(3x?—~10x+8) =0

4
xX=2, -
3

¢. Range:[—2, o)

Question 4

a. log, (\/;x_l) =2

X

\/5—1:4

x =4/x—4

Let a =+x
a*—4a+4=0-a=2
Vx=2-x=4

b. e *(e™*-2)=0
e *=0, e *=2
x = —In (2)

Question 5

a. Pr(X > 151.9) = 0.025

b. Pr(Z>1) = Pr(X > 145.7) = Pr (X < 133.3)
b =133.3
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Question 6

a. Pr(PnQ) =Pr(P)xPr(Q)
0.1=03xPr(Q) - Pr(Q) =

1 mark
i _ Pr(PnQ’) _ Pr(P)-Pr(PnQ) _ 03-01 _ 02 1
b. Pr(P|Q) = Pr(@)  1-Pr(Q)  1-02 08 4
2 marks
¢. Because Pr(PNnQ)=0.1+0
1 mark
Question 7
ay __ a - _4
. Tt T 16
Point is (4,2 - 1)
a a
y=(G-1)=-5&-4
a a
2-(t-1)= 260
4 16 5
3 marks
Question 8
x'=2x-1, y'=—y+2
—y’+2— _ x’+1_1
2
y' = x2—1 + 2
x—1
y=J7z "t
2 marks
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Question 9

a. 2sinx)+1=0
. 1
sin(x) = -3

_7m 1im
T 6’ 6

)

2 marks

1 mark for end points, 1 mark for turning points, 1 mark for axes

intercepts
Question 10
a. 0.6
1 mark
A [06x04 1
b. SD(p) = / ” —20—0.05
2 marks
R _ 0.71-0.6\ _ 11\ _ _
e. Pr(p2071) =Pr(z2200) = pr(z 2 1) = Pr(z 2 2.2) = 0.0139

3 marks
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